X

- . e e e e e e e e e e e e M e G e e e W e e e e e G e e e R e e e e e e e e e e e e e e e e e e

134
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Wmﬁha? AC B.(Sét' 9)

ST T TR SeE ST f SRl TR e fore ! T Tegerl |

Select a suitable figure from the Answer Figures that would replace the question mark (?).

Problem Figures: _ . Answer Figures: )

£12 (= ?| | £|e]ee| |~

(A) (B) (C) D) m @ G @ 6 ey
: ' B. 2 - 3 - ‘D. (4
aa@rfaﬂma"isﬁ‘m:{mwm@m '

Count the number of squares in the glven figure.

) B. 30“ . C 29 D. 28
T FeseeT AhTe fash! oHIe TR | \ e

Choose the figure which is different from the rest.

oo

_ ey @ ©®

A B. 2 ’ D. 4' .
mmﬁmmmmwmmwmﬁmmmWw
TSI, ? :

Observe the dots on a dice (one to six dots) in the following figures. How many dots are
_contained on the face opposite to that containing four dots?

4 s @ f-
s : (i) (ii)'
A 2 ' B. 3

CYNG . ‘ * D." Cannot be determined
forem TR « '

£ mﬁﬁwm@ﬁ@mgwﬁnﬁman

3m HUTET RS T W g e e wiHS |

A, &) FE, (M T B. (a0 e, (31 e '
C. (3D, Terd (3m) TRl ‘ D. (30 g &, (3 Terd -
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AN w_A 9. TY3E i
CHRRCC . &’’s A
D AE T oo
3 TR ¥. oyel fae
A IR R, [ : B. 3, 3R, 7, N
C @y, R D. ¥, IR, { N
g, mmmwwmmman B . & o . kol Yy .
. “A. TER, forg B. =L U
C. 3T%u, gAhRN D. o, fag

6. AT AT I T BUET S TR |
@) WA §%a }eR T fEEfR TR B
) N T AR - BiATHI 1

A. (ax)t(aﬁ)gém 5 : © B. (3T (M T
C. (@) =g (3m) T ' D. () T (31) T

B mwmﬁmmzmvmﬁmmmm ﬁammv@ﬁwﬁz
THE |

TEF . IEE

&) afggz €. a'r 9.  Windy City

am I 3. The Forbidden City
3) m 3. City of the Seven Hills
9 =mfee ¥,  GR HeREh] el

A W IRR,Y B. W, M7, RN

C. M, R D. MR, T, A
Questlon No (10-14) based on the following passage:

It is to progress in the human sciences that we must look to undo the evils which have resulted from a
knowledge of physical world hastily and superficially acquired by population unconscious of the changes
in themselves that the new knowledge has imperative. The road to a happier world than any known in the
past lies open before us if atavistic destructive passions can be kept in leash while the necessary
adaptations are made. Fears are inevitable in time, but hopes are equally rational and far more likely to
bear good fruit. We must learn to think rather less of the dangers to be avoided than of the good that will
lie within our grasp if we can believe in it and let it dominate our thoughts. Science, whatever unpleasant
consequences it may have by the way, is in its very nature a liberator, a liberator of bondage to physical
nature and in time to come, a liberator from the weight of destructive passions.. We are on the threshold of
utter disaster or unprecedentely glorious achiev ement. No previous age has been fraught with problems so
momentous; and it is to scxence that we must look to for a happy future.
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19.
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What does science liberate s from? It is libérate us from

- A. fears and destructive passions

B. slavery to physical nature and from passions

C. bondage to physical nature

D. - idealistic hopes of glorious future

Should human sciences be developed because they will
A. provide more knowledge of the physical word

B. make us conscious of the changing world

‘C.  make us conscious of the changing in ourselves

D. eliminate the destruction caused by a superficial knowledge of the physical world
If man's bestial yearning is controlled g :
A. - the future will be tolerable ) 3 ‘ =
B. the future will be brighter than the present ’

C. _ the present will be brighter than the future

D. the present will become tolerable

Fears and hopes according to the author

A. are closely linked with the life of modern man

B.  can bear fruit

C.  canyield good results

D. are irrational o e

To carve out a bright futiire man should

A. analyse dangers that lie ahead "~ B. tryto avoid dangers

C.© overcome fear and dangers _ D. cultivate a positive outlook

TSR AF T TR, 015 e WA g1 e B g ? :
A FEIWAE B, FEATEER C. 9T D. favEy
e AR A g A A A TR B2 ;
) _qmré - @) e B faﬂm : ) mssﬂ

F. TIAEHH Wmm&ncoshue Woolsthore ¥ AT ‘I@fmﬂl

. F=ma FHeN g1 =6l Gl afea frae wafaa 51

A FdHsTWF B FRFEIF C.- ek "D, gé%roﬂw

(@) () MR T R S :

) mmaa:cmmmmm af |
) ﬁwmmaﬁmwfmn

TR SR SRR

A, (30 T () e ~ B. (NI (EMgATE

C. ()T (3M g3 o . D. (3 e (3 TR
et Sf¥ire TSTeeh! Qe S el 19 2

A, T B. Hrarfas C. TrEd - D. 35
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23.

24.

o e Pt SRR T e A TR

Group the given figures into three classes using each figure only once.

A. 349:578:126
C. 468:357:129

FIATS
[EoRs
T+

B.

. D.
T Fesua! Formens wrern T TR Faseee! SR TR |

1,56:2,4.8:37.9
1,2,7:3,59;4,6,8

Choose the set of figures which follows the given rule.

forry - e Fom St Y gen T gen T 3wt SR Eie wea |

Rule: Closed figures become more and more open and open figures become more and more

-closed.
NN
@ @ @ g_ g‘. ;
diniminio
Bl (e >3 | el ol o
A1 B. 2 €3 - D. 4
HHTIIUE AYH! fHEe T T erreeenn A T vreennn AR TR BN
A, G A, s, 9359 B. W, g, 1’6}
C. UgH AU, il 186~ D. TR, 3l 9%5¥
et wee fareren ferem THeR-
a1) o, 9oy A s ol
am) mﬁiﬁw@wnﬁamiﬂmﬁml
TE SR SR , ,
A. (30 T, (3) e B. (37) 7o, (3m) Wl
C. @EHIEMEITE D. () IEM AT
AT USRS T I TR AR 2
A, TTREEn B. ~3r=qui C. = D. egASE
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et ey W) fered SRR

F) ufEE 9. S

am) o 9= 3. TRt

3) g 3. du

%) fofgam ow ¥. afeqw
G| R S |

IR SREVEr W Rt

B. 1 c SRRt MR |

C. R 973

D, ¥ R Y

Plck out the best one whlch can complete incomplete stem correctly and meamngfully His

. appearance is unsmiling but ......

A. his heart is full of compassion for others : e
B. he looks very serious on most occasions ' :

C. people are afraid of him

D. he is uncompromising on matters of task performance

Pick out the best one which can complete incomplete stem correctly and meamngfully She
never visits any zoo because she is strong opponent of the idea of ......

A. setting the animals free into forest
B. feeding the animals while others are watching

~C. watching the animals in their natural abode

D. holding the animals in captivity for our joy . _ -
West Bengal ...... plentlful rainfall and is consequently a very green part of the country.
A. misses B.- . gegeiyes - C. expects D. regrets

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete.

this brand of TV is quite inferior ...... that one.

A. - than B. "to ! C. with D. over
W%ﬁ’tﬁmmiﬁﬂ?7 iy y

A TR B. arraéa : C. TR D. HAUERT
T SR R S T ST A SR R S 2

A, URIRSY B. HRIA - C. umiRsY D. HWEE

Convention on the elimination of all forms of Discriminations Against Women (CEDAW) FIT§

TR T ol e TG TR & ? : ,

A TIREE B. TAIRR® .  C. TR . D. ®MIR53
feresd STeT TUH Y& % K SHSE ? . A

A.  YUFEEST B. UM YIS C. Wg{i@ D. TS g
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TG T W= Teieh! 1 WA T W 2

A, HE HEg i after g of v

. B. mwwmmmmawm@m@|

C. mmmmﬂmmmawmmﬁﬁwmww@m
D. wﬁwmmmmmwﬁﬁ?ﬁammmﬁml

T gt Sererd e T St e S R | Study the following table and answer the

questi

ons.

et et fafiet o fafvem woaare. wfteasft wRemn sl T T e e frenfiees! wegen Reewt

® | Number of Candidates Appeared and Qualified i in a Competmve Examination from Different

. States Over the Years.
Year _
State 1997 1998 1999 2000 2001
App. | Qual. || App. | Qual Ai)p. Qu;;l. App. | Qual. .| App. | Qual .
‘M | 5200 | 720 | 8500 | 980 | 7400 | 850 | 6800 | 775 | 9500 | 1125 .
N | 7500 | 840 | 9200 | 1050 | 8450 | 920 | 9200 | 980 . 8800 | 1020
1P 6400 | 780 | 8800 | 1020. | 7800 890 | 8750 | 1010-°| 9750. | 1250
Q | 8100 | 950 | 9500 | 1240 | 8700 “980 | 9700 | 1200 | 8950 | 995
7800 | 870 | 7600 | 940 9800 | 1350- | 7600 | 945 | 7990 | 885
35, EII%Re mv&mmmmmﬁ«cm@mmmm

"~ 36.

37.

38.

wfaufem &2

Total number of candldates quahfied from all the states together in 1997 is approximately
what percentage of the total number of candidates qualified from all the states together in
1998?

A 2% - B. T7% C. 80% D. 83%

T Q T2 AT Hi SHTAR W TR W B

What is the average candidates who\appeai'ed from State Q during the given years?
A. < 8700 B. 8760 _ C. 8990 D. 8920

T e g s P ot St whw s 9fe w 2 :

In which of the given years the number of candldates appeared from State P has maximum
percentage of qualified candidates?

A, 1997 B. 1998 o coo1999 D. 2001
T N S § 01 Whet WO Siemefies o8 adeem wewift ufeniiess: S shnm@ & 2

What is the percentage of candidates qualified from State N for all the years together, over

the candidates appeared from State N during all the years together?
A 12.36% - B. 12.16% C.. 1147% D. 11.15%
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The percentage of total number of qualified candidates to’ the total number of appeared
candidates among all the five states in 1999 is?

A . 11.49% . B. 11.84% C. 1221% ° D. 12.57%
Statements: Some actors are singers. All the singers are dancers.
Conclusions: ;

Some actors are dancers.
No singer is actor. :
A. Only (1) conclusion follows B. Only(2) conclusion-follows -

C. Either (1) or (2) follows D. . Neither (1) nor (2) follows
T G TR I WA F S ? -
Choose the word which is different from the rest. 3
A. Tomato B. Carrot - C. Ginger D. Potato
'Ophthalmia’ is related to 'Eye’ in the same way as 'Rickets' is related to:
A. Kidney B. - Nose , C. Bone .« D. Heart
T g - B T s T g 2 - :
¥ ggEEST v ) FHEEEIET

%) A S A ) | Yl TS

®) FTam | & i m o T C W) afumE
T WAEeH! R TR L ' -

%) [ fad. ﬁ%%ammmﬁmaﬁtﬁmaaﬂ@ﬁmn
|) mmﬁm@m@mmmm'

T IR SR

) EAEH T - T) () T () T

M @) IEM T _ v W (@) TE AT

' ‘_ﬁwmmm“mﬂﬁmmma? '

F) TIWRYY W) FIRYE M FRYe ) T IRYG
Point Four Program %‘G‘T mﬁua 8?2 ' :

%) e @)  FHfY IUS

) T e W) R weEa

TR AR e TR

£)) :zgg_:a% mmmmmmmﬁw wﬁaﬁrﬁﬁvfa-
|

) mu&qﬁw@@ S, a@tmmmm

F) @EAEMTEE LW (@) e () T
M @) IE T : ) (30) T(E) g4 e
It is not what you say that ...... but what you do.

A. matches B. implies . C. matters D. moves
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'Please’ and 'Thank you are the little courtesies by which we keep the of life oiled and
running smoothly. “.

A. path . B. machine C garden D. river

I put...... the light and slept. , -

A. up, . B. down : C.. in - D. out 3

...... all intents and purposes, the manager is the master of the firm.

A. ‘In . B. Upon C. With. ‘ D. To

A STV, OLGHAFAR T . T TE T IRER i wfaeE R e ?

) Rl ) 0% SRR B B AR

Green House Effect............. AT -eeereen. T IR AT G

®) g, 9k W) TRPRR R ) S, ‘Rci ) S HRER, 1%5%
AT TR ! S % e g9 TR TR | .

Flow : River :: Stagnant : ? &

A. Rain B. Stream C. Pool DS Canal

A T T R T T FT A ST T SRS ?

Which of the following diagrams indicates the best relatlon between Pigeon, Bird and Dog ?

@0, ..

Statement The entire north Nepal mcludmo Delhi and the nelohbourmg states remained
'powerless’ the whole day of 19th December as the northem grid supplying electricity to the seven
states collapsed yet again.

Assumptions:

The northern grid had collapsed earlier.

The grid system of providing electri€ity to a group of states is an ineffective type of power supply
system. & : ;

A. Only assumption I is implicit *B. Only assumption II is(implicit

C. Either I or II is implicit - " D. Neither I nor II is implicit
AT 2 - , P =

A. Torg TmeeE —> i

B. dWIE HIRH — » ™

‘C. TIRE RS WRed ——»

D. EINR Hee =" HRAER

T S ST W et B O 2

A gl B. ¥=d C. ™ D. T
Global Gender Gap Report 2017 SFER U1 i M RAT?

A 99 B. .90% AR L S B  ZRE

WWW@WWW?ﬂWﬂWWW@@7
A TE B. TIA : C. TEhE®E D. 38sH
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mwmmm@wmmmﬁémm ?

A, TIROY-9RTY » B. Hq9R8%-9R&Y

C. T19R&8-9RL% : : D. T 991K

The pilot had been warned about the storm, before he ...... .

A. took away B. took up C. took over D. took off
Hardly had he arrived ...... it started raining. :

A. before -~ B. when C. than D. after

Pick out the most effective word from the given words to fill in the blank to make the

sentence meaningfully complete.
I..... a car to be absolutely necessary these days.

A. consider ~  B. regard ~ C. think D. agree
A+ TV el W S 2 : Ve
A. HRIHFN B. facfiiswien .G SMIFowEm D, FSifen THiSa
i e it SR SRR+ '
. fogard 9. @
W W9 . AR
T HEE . 3. TRl
o o fad ¥, T
Hreee: <
A 9, T-3, 7Y, "] B. #-3@-¥, -}, ¥-9
C. H-3, @9, TR, ¥ : D. ®-3 @9, 7R, 9-¥
e Toeg T I g o 59 2 :
Select a suitable figure from the Answer Figures that would replace the question mark(?).
Problem Figures: Answer Figures: - : ‘
HXD 2| | RRXKQX
LN / '
(A) B © O (1 @ & @ 6
AL i B. 2 ' C. 3 D. 5
TEaTE Tae I e A e 5 2 ' :
Select a suitable figure from the Answer Figures that would replace the question mark (?).
Problem Figures: . Answer Figures:
N RS Li¢ ¢
2la|?l {11 S €}
A ® © O R £ @ 3 @

A1 SRS C.-3 D4
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Find the number of triangles in the given figure.

A. 36 ' 'B. 40 C. 44 D. 48

fomr X o fegwat e mmmmﬁaﬁa@a ?

Select the figure which satisfies the same conditions of placement of the dots as in Figure-X.

g G5 BE

x) ‘ (3) (4)
A 1 | I L C. 3 ; D. 4
Wﬁaﬂ@mgﬁawv :

Select a figure from amongst the Answer Figures which w:ll continue the same series as
established by the five Problem Figures.

Problem Figures: Answer Figures:

(E) €3] @ O

B. 2 RS G D. 4

ﬁmmﬁﬁmﬁﬁﬁﬁ? '
A, Tfaferr B. PAeemeese  C. WM fee - D. foeen Fwus Irzs
A Y G S AT ' A . =
A PE@meaa B, A ¥ C. STEgERAO D, @@ 9’
FATA A ? ' '

a1 frfi A 9 TEEEE 99 Ratinol B | 3t fﬂaﬁabaﬁmﬁﬁmcméifewlau
3) - fyafem A =i w38 98 AT erEs | %) g sife fiafies CID &

A FHIaA TR SaTE C. &3 D e tden
wfeffs T fratem, R0 T HAWRT TG Hereh! S fersrdt G SHER A E 2

A, QEIEEIEE B, . ywisen C. UEHATRS D. SHRA yE
 fsrwm o s IERE e e e o e s :

TEE TR = :

) U frw . . wreTs e

am) et faet | , . weAeEn e

3) oA Iea faw ' 3. T e

BV : Y. G/ e e
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A. W,m,g?,gﬁ 4 : : B lm)m)a\)ﬁ
C. M, RHR D. R, R H
FA S AR ?

A. faftss wa '__, RIS iG]
B. SEAMIIAET -y SRR
C. TAL™M Rl — qHIOed

D. s fiw —— AN
Besides other provisions, that shopkeeper deals ...... cosmetics. -
A.  with B. in C. <8k P fox

Pick out the most effective word from the given words to fi ll in the blank to make the
sentence meaningfully complete. £
Leave atwo inch ...... on each page for the teacher's remarks.

A. border B. margin : C. blank D.  gap
Wmmmmmﬁmmmﬁmvﬁa?
A, firess, diaien, Tetee, et B. firmes, 3w, Ak, frgeft
C. fivaes, Sdeme fel, Aa@en D. <, fipaes, Arraen, fet

e Sifee S T Origion ofSpec1eszmm’q@fmiﬂw ?
&) Struggle for existence

1) Variation and heredity

%)  Origin of species

A. (3 T(3m 3A T, (3) W B. (3 I(3M) T, (3) Tem

C. @MI@fF Emmm D. Wk

o grew, 3095 =1 ol st et o forame v ot 2 :
A. TREE B. i C. F=fern D. S

Pick out the most effective word from the glven words to fill in the blank to make the
sentence meaningfully complete.

The team was well trained and strong, but somehow their ...... was low.
A. feeling B. moral e C. consciousness D. morale

In the following questions four alternatives are given for the idiom italicised and underlined ;
in the sentence. Choose the alternative which best expresses the meaning of idiom.

Although he has falled in the written examination, he is using ackstatrs influence to get the
job.

A. . Political influence - ' B. Backing influence

C.  Deserving and proper influence D. = Secret and unfair influence
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Choose the box that is similar to the box formed from the given sheet of paper (X).

%
(=]
B &
00 (1) G ) ()
S | only B. 2and3only C. land3only  D. 1,2and4only

g6, o Fewum Fereehy vl S Rewm g R 30 7S e TR |
~ Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures.
Problem Figures: : . Answer Flgures

= 3lc +M4 C|0 #&in ol [0 i s

e +l= slo & cfs =€ o t
& o __*ki= _SL_L-

_(A) (B) © O (E) 1 - (2) 3. & 4 (5)

1 B. 2 . &, D. 4
8. mm@ﬁs@ﬁmwﬁ@m

Select a suitable ﬁgure from the four alternatives that woﬁld complete the figure matrlx
/1 *
NIZEN
N4 ?
NN
ENAHANR

: (1) (2) 3) 9
A1 C 3 D. 4

- 88. mzmmmmmmm@mm
A. ¥Rg-q WA, 5 A, & T B. fuded-q AAS, LA, q 7. 91.
C. I~ HATL, ¥ AL D. wfedg- § AAL, 399, WAL
89. wﬁsmmmﬁmﬁﬂmmmwmmwmm
F. FER @. aorm B A o HAl

A §-Tm-@W-% B TA-W-H-¥ C TN-@-¥-F D W-T-¥-F




90.

91.

93.

9.

9s.

TR R e F- e TS

A ST R B. i ot T giveh
C. JAR=HITTE D. Wﬁﬁaté%g\%a
TR FoEeets AR TR o S ST e |

Group the given figures into three classes using each figure only once.

1 2 3.
Ql—|A
3 5 &
8 g
A 139;258:4,6,7 B. 15,8;4,6,7;23,9
C. 259:;13,8;26,7 » D. 189;4,6,7;23,5
o X o= T FA- I SIS 9 2
Choose the box that is similar to the box formed from the gjven sheet of paper (X).
o
1o
()
A 1 only . 2only
Tl TR S iee! e T SRR |

A, 22 20 C. 18 D. 14
095 ammmmmmﬁa ?

A, TR TR, Feteae B, e e, dmf

C. PRifaa ssreht, s _ D. fo&Hm em, &

foreR ey .

: 4 . Kathmandu International Mounting film Festivals Hq 000 g G’IT@EHT g1 ﬂ'lﬁ'qﬁ 1

09 TedmamHT FaeT 9y aﬁwwﬂm TIHI B |

@.
S ?o%ummﬁmﬁm'?‘m?ﬁza @rﬁﬁﬁm
A

a;uaaﬁa B. @HEIEH C._ @INHE D, wIw
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98.
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o) e AT ST AT Q4 -Y T SHT R TR T e THIBI
) STh Gl TN AR TET coveoeverrnnenes THBI :
A. BG.O%, Y B. &5%0,%% C. &G.OY, R 'D. 55&O, %R

ﬁvmzrmhm(aoaxmﬁm)mmm:mwm@m

A TR TR T N - 90
B. Toteen un-a wfafos vg@ TR S |
C. WRMTUES T9E : ' -9y
D. wEwfeE FeA - R

TR TR e RIS S 045 Y A o gt it SReRE 2

A, e g B, fiwfemswm C feerRsdsl D e faw fosm

ot Yol QW

- Complete the following series.
T99RLTL 33513, 15,33, 17 0 e

A. 19,33 B. 33,35 C. 33,19 D. 15,33

100. T F SO ST ST R faeeae ST THEs S T,

Select a suitabie figure from the Answer Figures that would replace the question
mark (?). ’

Problem Figures:  Answer Figures:
Y[ ?] [
_ @ ® © O ' @M @ B @ &)}
C A B. 2 : C-3 D. 4 S
Q.No: | Answer ) Explanation '
Key

@ The half-shaded leaf rotates 135°ACW and the unshaded leaf rotates 135°CW.
B. | The figure may be labelled as shown. - - y

K. ¥B C€: D _FE :

[ (2O L B

F
M_IN 1o

Q i’ IS

K

P -7

u v w X Y

The simplest squares are ABGF, BCHG, CDIH, DEIJI, FGLK, GHML, HINM,
IJON, KLQP, LMRQ, MNSR, NOTS, PQVU, QRWV, RSXW and STYX i.e. 16
in number. . ;

The squares composed of four components each are ACMK, BDNL, CEOM,
FHRP, GISQ, HITR, KMWU, LNXV and MOYW i.e. 9 in number.

The-squares composed of nine components each are ADSP, BETQ, FIXU and
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GJYV ie. 4 in number. ) _
There is one square AEYU composed of sixteen components.

| There are 16 +9 +4 + 1 =30 squares in the given figure. -

D. Only in fig. (4), the black tnamk: and the black circle lie at the two ends of the| -
same diameter. ; :
4 A. We shall assume the dice in fig. (ii) to be rotated so that the 5 dots appear at the
. same position as in fig. (i) i.e. on RHS face (i.e. on face IT as per activity 1) and 1
dot appears at the same position as in fig; (i) i.e. on Front face (i.e. on face I).
Then, from the, two figures, 2 dots appear on the top face (i.e..on face V) and 4
dots appear on the Bottom face (i.e. on face VI). ,
Since, these two faces are opposite to each other, therefore, two dots are contamed
on the. face opposite to that contalmng four dots.
5 A “lec. jip . |sc. - 108 |up [12B F3.A‘|14.D
15. D |16C |17A [I18A |19B
20 D. 1, 2, 7 are simple geometrical figures.
3, 5, 9 have one element placed inside a different element.
4, 6, 8 have two different elements attached to each other.
21 c. |22c [23Cc [|24B [25D. [26A.[27D [28B [29.8 [30B. [31.4
32, C |[33B |[34B i R 5
35 & Required ; _ (720 + 840 + 780 + 950 + 870) 100%
S| |[TAUITeC POTCeniage = (o807 1050 + 1020 + 1240 + 940) < V%
B 4160
=g W% -
=79.54% ~ 80%,
36 ¢ L, 8100 + 9500 + 8700 + 9700 + 8950
Required average = 5
44950
DD
=8990
=37 D:

The percentaces of candidates qualified to candld?tes appeared from State P
durmg different years are:

780

Forl997mx 100% = 12.19% ;

1020 '
For 1998 2255 % 100% = 11.59%

890 . Forehd
For 1999 7800 X 1_00% =1141% ;

1 010 :
For 2000——8750x 100% = 11.54%
For 2001 —222 » 100% = 12.82%

9750

. Maximum percentage is for the year 2001.
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38 D. :
Rt e s (840 + 1050 + 920 + 980 + 1020)
quI=cP €€ = 17500 + 9200 + 8450 + 9200 + 8800)
4810
T T
=11.15% :
39 B. Re ﬁired PR (850 + 920 + 890 + 980 + 1350)
quired percentage =700 + 8450 + 7800 + 8700 + 9800)
_ 4990 100 '
=a2150 % 100%
: =11.84%.
40 A. Actors  Dancers singers .
@ (cr) @ Dancers
» Singers Actors ; b
Only (1) follows.

41 A. All except Tomato growx‘undergrouhd. )

42 €. As 'Ophthalmia’ is a disease of Eye' in the same way 'Rickets’ is the disease of
‘Bone". :

43 D |44B. |45C [46D [47A |48C [49B [50D [51.D |52.B [S3.C |-

54 C. As Water of a River flows similarly water of Pool is Stagnant. '

55 A. All the pigeons are birds while dog is different from these.

56 A. The statement mentions that the northern grid collapsed 'yet again'. This means
that it had collapsed earlier also. So, I is implicit. Also, the statement talks of a
particular fault in the system but does not condemn the grid system. So, II is not
implicit. _ : . :

View Answer Discuss in Forum Workspace Report

57 A |58B |59B |60A |61C |62D |63B [64A [65B [66.B |

67 D. The contents of the outer main figure rotate through 45°CW.

68 D. The black leaf rotates 135°ACW and white leaf rotates 90°ACW

69 D. &

70 A D: In fig. (X), one of the dots lies in the region commorf to the circle and the rectangle
only and the other dot lies in the region common to the circle, the square and the
triangle only. In each of the figures (1) and (2), there is no region common to the
circle and the rectangle only. In fig. (3), there is no region common to the circle,
the square and the triangle only. Only fig. (4)-consists of both the types of regions.

71 D. ' :

[_i
In each step, the symbols move in the order *==*] and the symbol that reaches the
upper-left position gets replaced by a new one. : :
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Jap]75.c [768 [77D [7188 [19B [30B [s1D |82A ]

72 B _
83, D [84D -t
85. C '
86 D. The symbols '=', '+' and "*' move one step ACW While the symbols 's’, 'c’ and 'o
move one step CW each time. ; ,

87 B. In each row, the second figure is obtained by rotating the first figure through

190° CW or 90° ACW and adding a circle to it. Also, the third figure is obtamed by
) adding two circles to the first figure (without rotating the figure). -

88 D |[80c |ooB |

91 B. 1, 5, 8are all open figures bisected by a line segment.
4, 6, 7 are all closed figures touching a line segment.
2,3, 9 are all closed figures intersected by a line.

92 A '

93 C. The figure may be labelled as shown.
The squares composed of two components each are BJIMI, CKMJ, DLMK and
AIML i.e. 4 in number. '
The squares composed of three components -each are EBMA BFCM, MCGD and
AMDH i.e. 4 in number.
The squares composed of four components each are VWBA, XYCB, ZA,DC and

BC;AD i.e. 4 in number.
The squares composed of seven components each are NOJL, PQKI, RSLJ and
TUIK i.e. 4 in number. .
There is only one square i.e. ABCD composed of eight components.
There is on]y one square i.e. EFGH composed of twelve components.
) Total number of squares in the figure =4 + 4 + 4 + 4+ 1 + 1 =18
94 c |95A |96B [97B |98B |
99 - A. - |In this alternating repetition series, a random number, 33, is interpolated every
; third number into a simple addition series, in which each number increases by 2.
100 A.
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sirearges; (Fishtail) Bamet .
. mﬁmmmmﬁmwﬁm Sferms, Wmaﬁﬁlﬁmmm
T ekl Giemn T,

o TUE:RRIHIX
. ammmwmmmmmmmmm.

RiCic] anaﬁlam 3nsEIR (Falkland Islands)

o e e Sem o A e arferr A A

|s ﬁa@wﬁmﬁmﬁﬁﬁéﬁwﬁmmkmqu@m:
o mmmmwmay e

Qs m (Suez Canal) . ; _ :

. szmw@sﬁ@wﬁﬁiﬁwﬁ : % % :
o 95 4R - 9G5R I atem i s, ﬁwmmaciﬂmmmgﬁaﬁ‘
o @ammmmmm '

o e T g3 fE A

. mmmﬁémgﬁmﬁéaﬁﬁ@ém)ﬁaﬁm
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Jdce ﬂﬂm onfdr Answer Key' | ‘

L @O0 |26 |®O®OD| 5L | @®OD® |7 | ®®OO
2 |®@®O0 |27. |®®OD| 52. | ®®OCD®|77. | ®@®OO
3. |@@®O®@ |28 [®B®OD®| 53 | @EOOD| 8 [®®OCO®
4 |®@®OD® |29 |O®OD| 54 |®EOD®| ™ |®@®OO®
5. |@@O® |30 |O®O00 |55 |@®O0D| 8. (A®O®
6. | @O0 |31 |[®®OO |56 |@®OO® |8 |O®O®
7 |[@®O0 |32 |[@®OD| 57 [A®O0| % | ®@®O0D
8. |[®@®O0 |33 |@B®OD| 8 [A®OD®| 8. | ®®OO®
. |®®OO® |34 [®®OD|» | ®®OD | % | @®OO
10. | ®®O® | 35. [O®OD® | 6. |A®OD | 8. | ®®O®
1. |A@®OO |36 |O®0D| 6. ®®OD| % |®@®O0®
2. ®B®00 | 3. [(®®OD®| 62 |®@B®O0D |8 | A®O®
1B @O0 |38 |®®OD| 6. AB®OD|ss |[A®O®
14. [(BBOD | 3. |(OB®OD| 64 | @B®OD | 8. |A®OO |
15 (@O0 | 9. | OO0 |65 | O®OD| % | @®O®
16. | @®CO [41. |OB®OD | 6. |A®OD| 9. |[AOCD
17. |[B®O0 | 2. |®®OD| 67. ®®OD®| % [A@®O® |
B 1®®00 |43 |O®O0OD®| % | @®OD|% | ®®OO |
Y. |BAO0 | 4. [(B®OD| 6. |EB®OD|% (A®O® | -
20. | ®®OO |45 | ®HEOO®| 0. | @®OD®| % |®®OCO
2. [A®O® |46 |[O®OD®| 1. [ ®A®OD| % | A@®O®
2 (@00 | 47. |®®OD | 2. ®®OD®| 9. |®®O®
23. (BEOOD |48 |AB®OD| 3. |O®OD®| % | ABOD®
4 |O®O0 |49 (OB®OD| 74 | ®@®O®|% | A®OD®
5 |00 | 0 @@ | 5 [e@®o® | 100.

®®00 |
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61316" UQ’c'ﬂﬁT GE 90 (Set 10)

mmmrmwmmwmm

9. TRAT F. AR

R ASHS WA G HEH

3. G W . Hner

Y. HEHS Wl . AW A

A 9T, R-H, -, Y-8 "B, 9T, R-G, -, ¥-H

C. 9-7,3-9,3-§,¥-& D. 9-9,3-T,3-%, Y-8
Arern SR feret, mzmm@@mmmmmvaw ?
A, B30, 3K, 89.0% . B, 4& WYY

CC. 9%, 34§, 90 D. 4R, Y4 55

TAFTTE T Toheael WaTes [oaa o TS 2

Which number will replace the question mark ?

5 4

26

6-
A. 29 B. 26 D. 33
mﬁmmwmmﬂﬁéﬂ
Which will replace the question mark ?
A. 291 C. 361 "D 331
fomm e -

&) ISz ENfEwel ST STeRE T T |
@) THH IE 9R& AR w1
T AT ARl SO SR Heres e @ |

A. FaFfes B. miEfes . mIufsE D. Hafesw
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6. omehTEEn TREEH T frreEm vere 23 e Tem g Y 2
: ®) WM ®) ToE mogEd '
A FIGHH B. &9 C. .11 D. @IT
Question No. (7-11) based on the following passage: : ‘
Study the following passage and answer that follows: _
In the world today we make health and end in itself. We have forgotten that health is really means to
enable a person to do his work and do it well. a lot of modern medicine and this includes many patients as
well as many physicians pays very little attention to health but very much attention to those who imagine -
that they are ill. Our great concern with health is shown by the medical columns in newspapers. the health
_articles in popular magazines.and the popularity of television programmes and all those books on
medicine. We talk about health all the time. Yet for the most part the only result is more pedple with
imagimary illness. The healthy man should not be wasting time talking about health: he should be .using
health for work. The. work does the work that good health possible. X
T Modern medicine is primarily concerned with .

A. promotion of good health - - B. people suffering from imaginary illness
C.  people éuffering from real illness D. increased efficiency in work
8. The passage suggests that o : -
A. health is an end in itself B. _ health is blessing
C. health is only means to an end D. we should not talk about health

9, Talking about the health all time makes people
A. always suffer from imaginary illness
B. sometimes suffer from imaginary illness
+ C. rarely suffer from imaginary illness
- D. often suffer from imaginary illness
10. . The passage tells us ' .
A. how medicine should be manufactured
B.  what healthy man should or should not do ;
C. what television programmes should be about
D. how best to imagine illness
11. A healthy man should be concerned with i
A.  his work which good health makes possible
B. looking after his health :
'C.  his health which makes work possible
D. talking about health ’
12, it it R Fie T 2 : '
: A WRERYY B. FERR C. - =Y D. {FR RO
13.  HIw T Hen Tl den T i wam s R v se e o1 frer e |
&) UNDP —> FgI= , : ;
3 UNICEF ———— if® :
%) UNHCR —» S
%) IAEA — W




14.

15.

16.

17.

18.
19.

20.

21.
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iyt F el Wl B ?

A HTaA B. #,aMI§ ' C A3 . D. #fywHwa
Vincent has a paper route. Each morning, he delivers 37 newspapers to customers in his
neighborhood. It takes Vincent 50 minutes to deliver all the papers. If Vincent is sick or has
other plans, his friend Thomas, who lives on the same street, will sometimes deliver (he
papers for him: ; -

A.  Vincent and Thomas live in the same neighborhood.

B. It takes Thomas more than 50 minutes to deliver the papers.

C. Itis dark outside when Vincent begins his deliveries.

D. Thomas would like to have his own paper route.

T TR A el 2 ! ,
Which word does NOT belong with the others?
A. core B. seeds . C. pulp D. slice -

In each question below is given a statement followed by two assumptions numbered I and IL
You have to consider the statement and the following assumptions and decide which of the
assumptions is implicit in the statement. :

(A) If only assumption I is implicit (B) If only assumption I is implicit

(C) If either I or II is implicit ; - (D) If neither I nor II is implicit

Statement: "To keep myself up-to-date, I always listen to 9.00 p.m. news on radio."- A candidate
tells the interview board.

Assumptions:

I.* The candidate does not read newspaper.

I Recent news is broadcast only on radio.

.

A.  Only assumption I is implicit ~B.  Only assumption II is implicit
C. Either I or II is implicit , - - D. Neither I nor II is implicit

He sum of the digits of a two-digit number is 15 and the difference between the digits is 3
What is the two-digit number?

A. 69 B. 78 C. 9% - D. Can not be determined
TSV THFTAL ... S | TG SE.o............ TR BB :

A S, SR8 B. el gmmy C. 3mifed, 554 D. faefl, k&R

T AT Ho G ST RS 2

A Tifem | B. FSTHEH C. ¥9Ra _ D. ¥+

Pick out the best one which can complete incomplete stem correctly and meaningfully.
Despite his best efforts to conceal his anger ...... :

A.  we could detect that he was very happy

B.  he failed to give us an impression of his agony.

C. he succeeded in camouflaging his emotions

D. people came to know that he was-annoyed

Marghreb mmm@-@mmw ? i A
. AR LW s . g ¥ fafem

A, HIEHA B. %9 C. & 71IH 'D. ®IYAF



22.

23.

24.

25.

26.

C27.

28.

29.

The bullet went straight..........ccccuueu... him.

A.to B. through C. in D. her

Here are some words translated from an artificial language.
gorblflur means fan belt :

pixngorbl means ceiling fan

arthtus! means tile roof

Which word could mean "ceiling tile"'?

157

A. gorbltusl . B. flurgorbl , C. arthflur. - . D.  pixnarth
3 9% T Faver! STl A Sl FHeSa derehl Tl FH 9 S 2 X
A. I ‘ : : B.
e |FE= |USA - |dFW e FHe |USA  |=W
1994%  [§%% |34% 7 |%R% VL% |$9% . |5% ¥.2%
v Y
g o2 D. .
Fem  |#mFE |USA  |<M e |wma [UsA |
VL% -|%9% 4% |%¥% N¥L%  [§9%  |2u%  |2¥%
Egyptian Civilization §7 7ar®! fermwen fasma woat fuzh 2 :
A, TR B. & C. 3= p. ffim

Pick out.the best one which can complete mcomplete stem correctly and meaningfully

Even if it rains I shall come means ......

A. IfIcome it will not rain

B. Ifitrains I shall not come

C. I will certainly come whether it rains or not
D. Whenever there is rain I shall come

The lovers were meeting each other secretly, but their ...
everyone.
A. clandestine B. covert C. unknown
TR o U R S A e R 2

- A fa".00¢ B fad. 20R C.  fad. 03
oot Fem TN HEE T faeen! Sme= St frersge:
W ! &
R < 9. - HiE IR
i fHa 3. UgUEH
i, Wm 3. HR-IEA
iv. sm . ¥, ®US

A. i-d, ii-c, iii-a, iv-b
C. i-b, ii-d, iii-c, iv-a

O

D. candid

affair was soon known to

D. fad. 0¥

i-b, ii-c, iii-a, iv-d
i-d, ii-b, iii-a, iv-c
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30. gaahm (Renaissance) T\ W/ frdrean Terem™ey G Vgt ? .

. SIRHA 31 B 1 thmﬁm

. ifed Siec FTEE
_ A, FIEIA B. ®HITHAM C. THH D. % @ITH
31, A AN S0 TR TR SIS HRTHI Aol H e 2 ,

A. TS A& B. =& Hfa C. 9= gHify D. & S

T AR B A 1335 3 003 T v RnfEm wow T e waga i v
Feage T T weee! 3R IR - Study the following table and answer the questions based on
it. ‘ .

Expenditures of a company (in LAKH RUPEES) per annum over the_ given years.

Item of Expenditure
Year ‘
Salary Fuel and Transport Bonus " Interest on Loans Taxes

1998 288- - 98 . 3.00 234 83

1999 342 . 112 2.52 325 108
|2000| 324 101 3.84 416 74

2001 336 o . 133 . " 3.68 ; 36.4 ; 88

2002| 420 | - 142 3.96 T 494 98

32, wEEel e wia wH s g WS 2
" What is the average amount of interest per year which the company had to pay during thls
period?
A. Rs.3243lakhs B.. Rs.33.72lakhs C. Rs.34.18 lakhs D. Rs. 36.66 lakhs

33, TR YRga TRU STafmn AT qereh! Sid wiive €9 WU S 2

- The total amount of bonus paid by the company during the given period is approximately
what percent of the total amount of salary paid during this period? .
A. 0.1% B. 05% ‘ C. 1% D. 1.25%

34,  HIEH O 9%RG Pl HE G T 00R H HE TGB! B AW o ? .
Total expendlture on all these items in 1998 was approximately what percent of the total
expenditure in 2002?

A, 62% B. 66% - C. 69% D 71%

35. & feniemn © 000 T S S @Y RIS 2 ,

‘ The total expenditure of the company over these items during the year 2000 is?
A. Rs. 544.44 lakhs : B. Rs.501.11 lakhs
C. Rs.446.46 lakhs " D. Rs.478.87 lakhs

36. O TEH R focl WO T X AR TSR U Tl A9 B 5 2
The ratio between the total expenditure on Taxes for all the years and the total expenditure
on Fuel and Transport for all the years respectively is approximately?

A 47 B. 10:13 - C. 1518 D. 58
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37.  weErEs fareemd SR FoeerR 3 Riwe St Wi TR : Select a suitable figure from.

the Answer Figures that WQuld replace thé question mark (?).

Problem Figures: ' : Answer Figures:
A _ s b g BN Py P
QI 2 oL
NG o & Wb Wi b e
- (A) (B), © (@D Hm @ & @& 6. :
A 1 Bir:2 o G 33 - Db
T . 35 TR Tl A e 971 Sie firers v S ufeam e -
wf T T S
% W . A dEwasma i RN
@. dreen . ofa fomrasd -~ i HEHIEE
T gE 3. A" iii. gwE
. SsfEr 3. gfaw afssq iv. <
3. A Hf-iv B @-Fi C. =d—iv #» D ¥-%-ii
39. A H-3ii B. @-3#-iv C. T-3-ii D. ¥-%-ii
40. mmmmmmmmwammw
A 9% - ~B. -8 C 3N D 3%
41. gmm(‘sqmqaamﬂam)ﬁa 0%Y B TH ..coo.... 1 A ST T ST R S|
A, TWHIY B. TWHIR3 C. SWIY D. THIRG
42.  The king ...... the rebel. i \ i _
A. excused B. forgave B . pardoned D.- none of these
43.  Ishallcall..... you tomorrow. ‘ b
A at ' B. on . . C. with D. by
44. She...... from the crowd because of her height and flaming red hair.
.~ A. stood out B. stood off C. stood up D. stood by
45. To=selimer TEIteor Yash! Tamaemriel qerbries 57 & godl ? B
A, TR B. ufifssmem C. Sfaw gen D. M YRA
46. ToEEN WU QUR SRR RRREEE T ey B Teae 2
- A YR AU st T B. TSeam TRl wreEs €8 HeRA
C. faowel Qo weifas o - D.  SraieRvy qiREgs RgE T
47. . eerenns 1! The Scientific Management J& € mmﬁm Crcogbe il
A. 3T T, 999 : B. THITI. W, R
C. T TR, 99K D. TH. =g, 36, 1N
48.  ‘Indolence’ is related to "Work' in the sanre way as ‘Taciturn' is related to:
~A.  Cheat Bl ARk 50 8L - C.. Speak ~D. Observe

49. T THGAIE AR Vek SIS THoRY :
Choose the word which is different from the rest. ¢
A.  Raid B. Attack C. Assault D. Defence



50.

51.

52.

53.

54.

5.
56.

57,

58.

59.
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€

In the following questions two statements are given. Which are followed by four conclusions
(1), (2), (3) and (4). Choose the conclusions which logically follow from the given statements

Statements: All green are blue All blue are white.

Conclusions: ]
1. Some blue are green. 2.. Some white are green..
3. Some green are not white. 4.  All white are blue. i

A. Only(l)and (2) B.. Only(l)and(3) C. Only (1)and (4) D. Onl); (2) and (4)
T TR TG el e SR S W =i B g 2

A ufam 0 B, AR C. TH¥MRT®  D. wEwfER

St =ream W, 003 STTER T SENTE! SR Tt R Jeliet S g T Stfteman
Hiq-hid AHTH S ? '
A, Y FASTHT B, QWU FISTH €. 0 FASTM D, 30-3¢ FAS 741

A.  vierhIe Tomn, Brge Teres, geat Tomr, fagre Temnt, Tt wemnt
B. TrehTel Tomw, Forgem vy, fagred T, et Temn, et e
C. werrel Tomn, gl Tem, Bryee ey, gea g, e Ten
D. TgrehTel TeEnt, Sryes ey, it v, fagre TsEm, gest aeEn
ﬁaaamnwm (wm)ahm%aﬁa@—aaﬁmw ?

F. g NN B WA AR

T. SR S A gl AfmR.

A-waEfes B.Hiwles C. w17 few - D-uafow

In a large cities people are cut ...... from nature.

Al away B. off - Co xoRE D. down
The more your action and thought are‘allied and ...... the happier you grow.

A, diverget B. unravelled - ‘C. integrated ~D. invincible

W A FEd A ASees < el SieE® aerh strel frer TR :
F) Aee-q.8es g ') R -q xR
M R - 0,683 fa ~

A gEEfeE - B. & 7erd, @ 1T few

C. %1@Hm fow . D wWfw
Tormees Sefarga TSI &9 .o e IR ! S | A AT oo ﬁammt%?r?mn
Ao RY, FH B. 934, §H C. RYLI™A . D. 934 FHA

e Tt Tt S aerehT YRes faeR TTHer -

L H) I S TR T SR WO A
&) Little Balance % J&ieh TaIfeifeaie i@l &1 |

A, (3) gfe (3) Terd B. (aw)naa(sn)aﬁ:
C. . (30 T (3m) 33 W D <s¢)z(a1)géwraa



60.

61.

62.

63.

64.

65.
66.
67.

68.

69.

70.
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mm@mmmm? > _
A FRm B. @AM C. & D. T
o] T ST =T, i X et wreree sMes ?

Which of the followmg diagrams indicates the best relatxon between Profit, Dividend and
Bonus ?

O @ B O -

mmmmﬁmn

Arrange the words given below in a méaningful séquence.
I.Never - 2.Sometimes 3. Generally = 4. Seldom 5. Always

A, 52,1,3,4 B. 5,2,4,3,1 C. 53,214 D! 5,3,2,4,1

TYaTEE T YOS I 39S e o 14: 9 :: 26 : 2

A 12 _ B. 13 : C 31 O . 15
T e fhess :

In which groups the following belongs :

Apple, Grape, Orange ,

A. Vegetable B. Fruits C. Stems D. Oats
Tfteett ferrast STIRA g, Y GREHIv G SATIROER & ? '

A. Pre WID 'B. GAD . C. WAD D. WID
“TE T S TR R HERH S T S G S 2

A. GreenPeace = B. WTO C. UNESCO D. UNEP
ot ufie fragse! See S /R S ? '

A, so3ewifedl. B, 3 waﬁﬁwﬁ C. .oy wifea. D, ¥R o fesl.
Tt W eeH faar TR

W) 0%G aﬁmmmaﬁwmmmat w@ﬁfmmﬁn
©) wwm(@%ﬁmﬁ)mmfwml

T S SR | |

A, () dfz (3m) e 2 B. (31 e (3m) wfE -

C. GHIEMTIT D. (3T (3M 3 Ter@

We had a...... of warm weather in February. '

A. ftime B. spell C. length D. phase
TR SN A S e S, T e s : : -
Find the wrong number in the series : .

1,1,2,6,24,96,720

A. 720 B. 96 : C. 24 ] D. 6
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©72.

73.

74.

75

- 176.

77,

- 88.

9.

162

Which of the following option best defines the word : ABJURE

A. torenounce or give up a belief B. toregard with disgust

C. to give up one's power or rule D. to accept one's fate begrudgingly

T R Bryee 9 92 yemee w3 4, v A Ty A o o goer 3 Adasa
TR ST el 575 ¥ SRR Wieloh] e w1 gl ? :

A right triangle with sides 3 cm, 4 cm and 5 cm is rotated the side of-3 cm to form a cone.
The volume of the cone so formed is:

A 12zem® B 15mem® | C. lémem’® D, 20mem’

foram TR -

) 3. Telt STt sramiens s e ufrs )

3m q@ﬁﬁﬂt#@gﬁ@@mmmﬁéamml
3) ﬁuﬁmmw@ﬁmmmmmaﬁammmmﬁm
M| :

A. () F&, (3) e, (3) e . B. (37 e, (31) W&, (3) T
C. (3, T (3M) W, (3) T D. (30 W, (3M) e, (3) T
mr&mmmwﬁa%mmﬁmﬁmmiﬁwv

A, FEASRATES : B. M 96

C. sl ~ D. fdEm

e s s IwRe e e fier oft e s wie

#)  gErSEH! 9. e

A HEEE R fawaum

3 C3 T

3 Rl ¥. TRy

A W IRR, N B. M, IR,

C. M,3NRR D. 3, 3IR, RN

TR Sy FEl RS 2 5 v '

A. fogam B, wfmaR S C. wEER 'D. FEE
When their exammatlons are over, the chlldren gleefully ...... : the books they had been
reading. : :

A. shelve B. . sidetrack C. overthrew D. abandon"
Chintu is ...... small to start playing cricket now.

A, very . . . much - C. too D. more
mmwmm. i

ax),amﬁtmwzﬁﬁvamm 3. H{9R53

) e 2., T fe s

3)  FhR R ' ER LR

%) foava amamERy feag ¥. - T 004



80.

81.

"82.

83.

85.
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# @ F 0§
K i % o3
B N e Do R
c.'9 -} ¥ -3
DR v o v Bl

O AT, ga,wrﬁmw@a@mﬁmm ,

A. TG, FIERUSH], GIH, I

B. wmmm

C. WIVR, FRATUSHI, TedH, FoH

D. GG, FETISH], FeIE, Ied ; '

AR mwmmmﬁw“mm Bammﬁﬁwnﬁmmﬁc
= T ST ¥ T S I T S W, C Rl ST6 S i (e T Sl 2

A can lay railway track between two given stations in 16 days and B can do the same job in
12 days. With help of C, they did the job i in 4 days only. Then, C alone can do the Job in:

21 _
A. ,Sdays ' B. 9%days C: 9%days D. 10

'mwmmgﬂuoﬁmmmxmwwﬁmsﬂ

~mmnémﬂﬁmm ?

An aeroplane cévers a certain distance ata speed of 240 kmph in 5 hours. To cover the same

5

distance in 3 3 hours, it must travel at a speed of:

A. 300 kmph B. 360 kmph C. 600 kmph " D.: 720 kmph
If % (x-1) =2 (x-3), then the value of x is: ' s

1 ‘ ' -
A 3 Bt G2 D.

Torar e :

. fovasy Bead, 095 W1 G U Sare s e |

w. favasaged, 3095 T TANT TrHT TETEIHI A1 FEH Tl &I J |

. mmm?oa:mmw@mﬁmgsmwuaé@mﬂﬁﬂ
© fEn

A FHF 3% B. wam fes C. wiEfss D. wafes

.

NI

: mmmﬁﬂmmwwmmfa—ﬁm?

) i e arE I ST T
3m mmmmmmmm@aﬁq@

| g) oA Sfeas! S@ar, Wiwe! af A g, aaéammﬁz'm@

) ﬁmmﬁmuuﬁmamww

A 31 Tew, an o, 3 7o, 3T B. exﬁﬁsﬂnaasméﬁa;
Cc. xfsw, anfew, 3 7o, € 7Terd D. uafaw



86.

- 87.

88. -

89. .

90. "

91.

92.

93.
94.

95.

96.

>
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SRR TR R H TR T ?

AL 43 (v Tt 3R, TEETHE 29) B. ¥ (Yo Pl 3R, TS 3?)

C. %3 (vemei Frafifaa 3, Wt R0) D. X (e it 3%, Wi

The thief ...... all the money. : .

A. made up B. made off with C. mode do with D. made good

The luggage was ...... heavy for him to lift : :

A.  much B. as C. so D. too

Something that can be heard is called ................ L : .

A. Auditory B. Audio-visual C. Audible D. Audition _
ugqﬁtmgqﬁimmfd@mmaﬁmﬁmm? R R D ?
F) "W W) U M) ERISR ) YRI93

Wmmmﬁmmmtmammﬁmm@mm
mmmaﬂammmﬁmwm|

-5 : TR -8

F) e TRew Sl 9. R fEg
) FIRY ST . AT

3) foxio fraad srger 3. ShTEEIgL aon
%) IR IS - ¥ SRR
F) MR @ MR, M, N, B
M MR, IR, N SO M, AR, B,
(@) T (@) T HE 7oA Rgw 5

3) mmwﬁﬁﬁawmgﬁrﬁﬁamm@oa?vx A THIE
AN AU WHER T dHeH A FA. AEEE 99 Wi GRm § we dE ATl S=RE
maozamma.

TE IR TR | : :

®) (3N TR (M) e @) ()T EMF T

T (31) T() T3 e o) (37 T (3T TE

The cube root of .000216 is: : _

A. 6 : B. .06 OMEN, s b D87
The sum of first five prime numbers is: ak ,
A 11 B. 18 C.+26 R Py 08

A two-dlglt number is such that the product of the digits is 8. When 18 is added to the
number, then the digits are reversed. The number is:

el e B. 24 5 e D. 81
Ty Femrm, ?mcwwﬁ@aﬂfﬂﬁﬁ“ﬁ‘@f@’
%. 3o T wEfEm 0 T aefe

=

A BTG T B. T C. §I1 . D. ufEmw



98.

93.

180,
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r

ﬁmm“mmﬁaﬁammaﬁmﬁmﬁaﬁam

a2 _
A. 90 FFIR, 099 ‘ B. ‘ﬂaﬁl@ﬁ( 090
C. 9% J=r, 090 * D. Y HFH, 099

e = 00v/0x F e WA FIIR I AF, aﬁmmmmmmm
TRRARES ?

A. %05 B. RI -« C: 18 : D. R03Y%

"Making It Big' @1 T6% FUE! SATHATH! SIS FIHE TR T & ?

A. ToER = B. fasmear . C. ®Wrasgad D. siEw e

30 under 30 Asia % TERT T T 3 aeh Sfe AR g 2 0

A, YEe O, ss=a s 'B. g w.EY, wEE iR

C. 59 I, GRS D, e g, S S

3d=diicil (Jc - 90)

.No | Answer |Explanation
-1 C 2.B
3 A Fromfig. a: 7x 6 +3 =45
Fromfig. b:5x4+6=26
Fromfig.c: 7x3+8=29 - _ :
Hence the number 29 will replace the question mark. !
4 C |@3)y=)=
: (8+5)* = (13)*= 169 !
(11+12)% = (23)* =529
(10+9)% = (19)” = 361 N :
5 D [6A [7.B - [8.C [9.D [10B  [11.A [
12. & 13.C .
© 14 A The fact that Vincent and Thomas live on the same street indicates that they live in
_ the same neighborhood. There is no support for any of the other choices.
15 D ' .
16 D The core, seeds, and pulp are all parts of an apple. A slice would be a piece taken out
] ~ {ofan apple.
17 D.  |Let the ten's digit be x and unit's digit be y. -
Then,x+y=15andx-y=3 or y-x=3. .
Solvingx+y=15 and x-y=3,weget:x=9,y=6.
Solvingx+y=15 and y-x=3,weget:x=6,y=9.
So, the number is either 96 or 69.
. - Hence, the number cannot be determined.
18 A 19D |20.A [21:D . | |
22 B Because the first two statements are true, Eric is the youngest of the three, so the
: third statement must be false.
23 D Gorblmeans  fan; flur means  belt; pixn means . ceiling; arth means tile;
i | and tusl means roof. Therefore, pixnarth is the correct choice.
24 & 25B [26.C [27.A 28D [29.A  [30D | | 3
31 D . g L
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32 D Average amount of interest paid by the Company during the given period
234 +325+41.6+364+494
=Rs. 5 lakhs
183.3
=Rs. [ 5 ] lakhs
=Rs. 36.66 lakhs."
33 C ; (3.00 +2.52 + 3.84 + 3.68 + 3.96)
Required, percentage =588 1343 +.324 + 336 +420)  100%
g 7
=T710> 100%
=1%
34 C . (288 + 98 + 3.00 + 23.4 +83) :
Required percentage = (420 + 142 + 3.96 + 494 + 98) x 100
495.4 - ' :
T 13,96 S0
: = 69.45%.
35 A Total expenditure of the Company during 2000
-'=Rs. (324 + 101 + 3.84 + 41.6 + 74) lakhs
- = Rs. 544.44 lakhs. , -
36 B : . _(83+108 +74 +88 +98)
| Required fal0 = (o5 + 112 + 10T+ 133 t N®
_451 .
586
L
T 13
_1o
- 13 :
37 C. The arc gets divided at one place and the other element gets separated from the arc
and gets divided at two places. : ) ‘
38 B 39.D [40.B l41.Cc  J42.C [43.C [44.A [45B  [46.A .
47. - D : : : : :
48 C As 'Indolence’ and 'Work' are opposite to each other in the same way 'Taciturn’ and
g 'speak’ are opposite to each other. -
49 D All except Defence are forms of attack.
50 A White ;
Blue
Green
. Only (1) and (2) follows:. : )
51 B 52.C [53.B [54.D [55.A  [56.C [57.A  [58.A. [59.C
60 D '
61 B Bonus and Dividend are différent from each other. But both these are parts of profit.
62 D ) : = e
63 D 14=(2x9-4)
26=(2x15-4)

=15
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Apple, Grape and Orange all these are fruits.

64 B
65 D 66.C  [67.A [68.A [69.c
70 B Explanation:
Go on multiplying thh 1,2,3,4,5,6t0 oet next number.
So, 96 is wrong.
71 A
72 A s
g Scm i
3cm
) Radius = 3cm
Clearly, we have r=3 cmand A =4 cm.
= Volume = Ixnr?h = Ixnt x 32 x4 cm’= 1271 cm’. '
© 73 A 74C |75B 76D [77D . [718C [79D [80B |81.C
82 - D | Distance = (240 x 5) = 1200 km.
Speed = Distance/Time d ,
Speed = 1200/(5/3) km/hr.  [We can write I% hours as 5/3 hours].
.. Required speed = 1200 x % km/hr = 720 kn/hr
=5 & leenb(x ])*“(x -3)
b (X-I) b (x 3) —b 8= x)
=>x-1=3-x
=>2x=4
=x=2. o O ! - :
84 D 85D |86A |8LB [88D [89.C [90.A [91.B [92.A
93 B. - y & 216) : .
| (:000216)" = (76%
6x6x6 "
10" x 10" x 10)
6
=1
6
=100
- =0.06 _
94 -D. Required sum=(2+3+5+7+ 11)=28.
Note: 1 is not a prime number.
Definition: A prime number (or a pnme) is a natural number that has exactly two
distinct natiiral number divisors: 1 and itself.
95 B. : .
96 D 97B  |98.A [99.A [100.C - |
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B 90 7 T w Answer Key

L. |®@®O® |2 [(A®OD|5L | O®OD®|7. | ®®OD®
2 |®@®O00 | 2. |®®OO®| 52 |®@®O0D®|7. |®®O® |
3. |O@®OD |28 |(A®OD |53 ®®OD|718. | ®@®OD®
4 {®O®OD® |2 |®EB®OD| 4. | ®®OO®| 7 |@®OD
5. |A®QO |30. |A®O®| 55 [@®OD |8 |A®O®
16 |[@®O0O |3 |[(@®OB]| 5% |®®OD |8 |®®O® |
7. |[@®O0 |32 |®@®O00| 5 | ®®OD| 82 [(O®OO®
8. [A®OD® (3. |®®OD| 58 |@®OD|8 | A®OD .
9. |[®®O® |34 |®@®OD®| % | @O0 %4 |@®O0O®
10.  B®OD® |35 [A®OD| 6. | AAOD®| 8. {®®O®
1 |®@®O0 |36 |[A®CD| 6. |®E®OD| 3% |A@®O®
2. |®@®O® |3 |®@®OD| 62 |(O®O0D| % | ®@®O0®
1B OO0 |38 |[A®OCD| 6. [AB®OD |38 | A®OO
4 (A®OD |39 |(ABOD| 6 [HE®OD| 8. | ®®OO
15. |[A®OD® | 40. [ A®OD | 65. | O®OD®| % | ®®O®
16 (OB®O0 | 4. |O®OD| 6. | O®OD| 9. | A®OD®
17. |@®O0 | 2. |®®OD| 67. | ®®OD| % |®@®O®
8. 1®®00 |43 |O®OD| % | ®@®O0O|% | ®@®O |
Y. |AB®OD |4 (ABOD| . |[A®OD| % | ABE®O®
20. (A®OO® |45 (A®OD| 7. | ®®OD®| % |[A®O®
2. |®®OO |46 |@®OD| 7.  ®®OD®| % | ®®O®
2. |(®®O® | 47. |®@®OO| 72 |@®OD| 9. |®@®O®
23. |®®O0 |48 |O®OO | 73. | ®B®OD| % |O®O®
4. |®®OD |49 |®®OD| 1. |®®O® | % |®®O©®
25. |A®OD® | 50. |A®O® | 75 100.

®®OD®

A®OO®
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S1ooll UeNTR AT qq (Set 11)

Tezw=t Sof g7 Wen T © ? .

- Find out the wrong number in the given series ?

64, 71, 80, 91, 104,119, 135, 155 A :

A T B. 8 C. 104 ; D. 135

TS T I ﬁil?IFITI?IT‘R i ¥ &1 3k g gzmmmmmﬁm
BRI SIS S W ST Geten] SIAaA 1 Biell ?

A hallis 15 m long and 12 m broad. If the sum of the areas of the floor and the ceiling is
equal to the sum of the areas of four walls, the volume of the hall is:

A. 720 B. 900 “C. 1200 D. 1800

¥ 69 T AR B w1 6 R 0 T e, 3 30 T TR S S 90 e g0 e W qo
ST HiEeTer SXF 1 Hia & 90 T, 2

4 men and 6 women can complete a work in 8 days, while 3 men and 7 women can complete
it in 10 days. In how many days will 10 women complete it?

A. 35 =" B 40 |, - C. 45 D. 50

: mm@mmﬁomummwzaﬁmmm wﬁmvam
T IR TR e 30 FReiifier ammet sliwa i Rt R 2 A man on tour travels first 160 km
* at 64 km/hr and the next 160 km at 80 km/hr. The average speed for the first 320 km of the tour is:

A. 35.55 km/hr B. 36 kmv/hr - C. 1.11 km/hr D. 71 km/hr
If 5° = 3125, then the value of 5" ¥ is

A. 25 B. 125 © i Y625 D. 1625

aaa?t'@a‘mﬂaaa7

A. mﬁ@ﬁﬁwmmﬁm B. mmmam
C. T TITER — s ey D. AUl GHI faesreans — f5i
T SSTEee! SIRAT foar e :

a. TSR GO STRE —> BRYA RIehR STRe ! e 4334 7 Rl 31
b, FIYRI g Wt — Faerel Wt e o R srafen B
A1 O FOH AR —> FTGATS G ST B |

0

. WA A TR —> FHAH AT A FEAILIA 7ot B |
A. a,d¥El, b,c T B. a,b®gl, c 7o
(6

a,b,cTd, dTeE D. a,b dTd, cTEE
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8. ﬁs@matwafﬁmﬁaﬁﬁﬁﬁmﬁzfﬁmt
- RS ' 5

&) SERRREE 9. W

am W= fim afaw 3. e

3 SR TEgS 3. AfE

3 oA Y. weed

A WM R N , B. IR, IM,HN, T

C. ¥R, N D WIRBH
9. THEMRFANNTENS ? o

A, FOTEH A O TR — wifes A
B. o Jurem see S5 TURA =R — Al %m@r&aa
C. fTovam waifys <0 I=A I9aH — T ITFH!
D. SUeEh! T AL AR — Tgafae
Question No. ( 10-14) based on the following passage:

Study the following passage and answer the questions that follow

The enjoyment of physical possession of things would seem to be one of the prerogatives of wealth which
has been little impaired. Presumably nothing has happened to keep the man who can afford them from
emjoying his Rembrandt and his homegrown orchids. But enjoyment of things has always been associated
with the third prerogative of wealth which is the distinct it confers. In a world where nearly everyone was
poor, the distinction was very great. It was the natural consequence of rarity. In England it is widely-
- agreed, the ducal families are not uniformly superior. There i$ a roughly normal incidence of intelligenee
and stupidity, good taste and bad taste, morality, 1mmorahty But very few people are dukes and .
duchesses, although.the later have become rather more frequent with modern easing of divorce laws. As a
result, even though they may be intrinsically unexpectional they are regarded with some awe. So it has
long have been with the rich. Were dukes numerous their position would deteriorate. As the rich have
become more numerous, they have inevitably becomes a debased currency.

10. = The distinction conferred by wealth

A. was unfair to the poor
- B. was unlikely to spread throughout the world

C. ‘was very great when there were many rich people ' E
D. was very great when there were few rich people

11.  The enjoyment of the physical possession of things
A. isone of the privileges of wealth which has not been changed
B. is one of the privileges of wealth which should be curtailed
C. has little to do with the prerogatives of wealth '
D. is a prerogative of wealth which cannot be disputed

12. Ducal families in England ’ '
A. = are generally agreed to be fairly common
B. are generally agreed to be fairly superior
C. are superior because they are rich
D. are generally agreed not to be always better than others



13.

14.

15.

18.

17.

There are more duchesses now because

A. it is easier for dukes to divorce and remarry
B. dukes are more immoral than they used to be-
C. there position has deteriorated- :
D. they are debased
Among the ducal families
A. there is great deal of immortality
B. there is a fairly even spread of virtues and vices
C. thereis a great deal of bad taste -
D. there is either great intelligence or great stupldlty
! SRR R TR -
a. AN =9 851 51 SiE Geodermatophillus obsucural ?l 1
b, ToavEe G ST RIH G el Rt femarm 2l
. Tovae g IS T IS W YAl fafaend sARee T
d. ST 9 UEA SR Sitana fusca B 1 ¢
A. ab,cHE, d 7™ : B. ab,c,dFIT
C. ab,d ¥, c e D. b,c¥d,a,dTed
e T vt Foifen <f <iren fremegér )
e . fom
a U : 1. SRR \ S
b, Y AR 2. TR AR :
c. U 3. IEEERR
d. fégs@r 4. T g
HES a2 b c d
A.. 4 2. -1 3
B. 7.4 2 3: 1
C.<. 3 2 4 1
D. 4 1 2 3
Toresdimiem veget IR aae! WS TeR THe :
I afyesm — TS SR T SR A
I USRI — Well el Hated TRIEieHr
Il e — Jumaafa
IV. T8 — T At
A T IEE, L IV T ‘ B. IILIV &, Il e
C.

ILIVEE, LT D. ILILII&E, IV Iea-
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18.

19.

20.

.21,

22.

23.
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sl T

a.  WHIME 1. ReRgwem

b. SEE- 2. M=

c. TeRU 3. .HFE

d.- IFHE 4. femca fgfe

HS 2 b ¢ d

A1 2 3 4

B. 1 2 4 3

C.' 1 3 4 2
D5 3 4 1
mmmmmmﬁwml

0.0169x?=13 .
A. 10 ' B. 100 . C. 1000 D. None of these

IR AR B W€ ¥ooo TR g waT AT T C wE 3000 T ¥ P AT WIERYT S THR
WWW@IWWM?QMWWWWW%WWW
B 2

A lent Rs. 5000 to B for 2 years and Rs. 3000 to C for 4 years on simple interest at the same

rate of interest and received Rs. 2200 in all from both of them as interest. The rate of interest
per annum is:

A 5% B. 1% . ° - 7§% D. 10%

mzmmmasﬁmaﬁ:mwa voooamaaaahaamvo ¥ w‘nﬁ

P o i A 2

Salaries of Ram and Hari are in the ratio 2 : 3. If the salary of each is increased by Rs. 4000,
the new ratio becomes 40 : 57. What is Hari's salary? -

A. Rs. 17,000 . B.  Rs. 20,000 ~ C. -Rs.25,500 D. Rs. 38,000
TSI TR TF TR § e S e Rl T IS R0 mmmwﬁr@mm
e FHeIe IS 2
A vendor bought toffees at 6 for a rupee. How many for a rupee must he sell to gain 20% ?
A 3 A B. 4 C...:5 D. 6
TSI THEH & silatrar o A eI aﬂaaﬁmaa'sm mmﬁﬁmaﬁﬁmﬂwm
TR 9 T i TS 2 \
In a box, there are 8 red, 7 blue and 6 green balls. One ball is picked up randomly. What is
the probability that it is neither red nor green? .

1 : 3 : i 7 =8

A. 3 B. x : C. 10 8 O B

s
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a. e
b. T
c. T
d. e
IS a
A-.. 3¢
B. 3
Gl
D. 2

e
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IS AT
FSH! IR
ISHITE -

25. R AT S S et B S e B
' A.  TE-UrEU-SFYU-HAR T T — T 094
B. Todm-wruE-arees v ad —» o 099
€. IEU-TRAIY e T — TF 095
D. foemH-Ews-THRE wied o — T 098
26. AU WiES S TR Setae we fesgey 2

e S
IR e sam
EEICECIBRS O]
AT WA HEIH
A9 FrgEEr fm

ow>l% a0 o
W oW oA

o

R

27.  fafw e T e <o S

.mos'r.wlg

W = = W o

AT AL S
AT AT B
e Auret

A NN N I0

=5

A D=

1

& _
1. =i &
2. SHSYArT &
3. 3Nt &=
4., [ar &
T S Ted e 9d ST SR Tge -
T Y % :
.1. fad. 0%y
2. fad.3033
3. fad.ove
4. fad. 3000
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30.

31.

32.

33.

35.,
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From the given alternatives, choose the one which best expressesbthe given sentence in Direct
speech.

I told him that he was not working hard. :

A. Isaid to him, "You are not working hard." i
B. Itold to him, "You are not ‘working hard."

C. Isaid, "You are not working hard."

D. [Isaid to him, "He is not workmg hard."

Teetotaller means.........cccvevenennns ;
- A.  One who abstains from theft B.  Ong who abstains from meat
C. One who abstains from taking wine D. One who abstains from malice
Pick out the best one which can complete mcomplete stem correctly and meaningfully "It is
an uphill task but you will have to do it" means.......

A. The work is above the hill and you will have to do it

'B. Itisa very easy task but you must do it

C. Itis very difficult task but you have to do it
D. This work is not reserved for you but you will have to do it

XTI TS ) USAG HIeTHl N WO e 2
A. Tofifas fae B. WemWeglI= C. . g il D.: TEHIUR AR
ATt SR T e, 008 SR SR e R 2

A. Tad. o008 wrgY B. fad. 3008 ®F 9

C. fad. 300037 3% - D. fas. 30008 HIF %
-ﬁmmmmtmm«mw@mmmgﬁmmﬁ
TS 2

A.  gfafafy W'W ‘ B. uﬁaqamaﬁ ey

C. ufaf+fy g9 svaygE D. JYF-IEEr

'DETAIL' 1 &Gl TR F0ie% FEeiR S A7 T T SRt aieTet 9 9ies 2

In how many different ways can the letters of the word 'DETAIL' be arranged in such a way
that the vowels occupy only the odd positions? ' % -
AL 32 "~ B. .48 " C. 36 ' D. - 60
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Tegwe! Sofm AT FH FA R 2

Odd man out in the given series ?
835,734, 642,751, 853, 981, 532
A. 751 B. 853 C. . 981 D:.. 532
T TG 3 SR T R K mmﬁvﬂﬁsﬁ%mgﬂﬁd@ A i wiem
Rt et WS ?
A dishonest milkman professes to sell his milk at cost price but he mixes it with water and
thereby gains 25%. The percentage of water in the mixture is:.
. 1 . :
A 4% - B. 63% C..20% -~ - D, 25%
y:30 3 § 0! e A E G R T R S 2

| At what time between 5.30 and 6 will the hands of a clock be at right angles?

& 7
A. 43'5‘ min. past5 B. 4377 min. past5

11 11
C. 40 min. past5 D. 45 min. past5

mmmmmmmmmmm
A, TG ¥ — R e

B. FEEE o RYE SRR G

C. FggET e — TFT Tl TR g b

D. - FHHET ] — T, TR T A Teh) W AR T

TR TS Ao AT, 093 & e gEE # e

A. T S @ T fremrerediat asm

"B. 39 Herd = O and M STAEIeh! T

C. SFYSTEA HEIeh! T
D. e v ’
T SRTORT, R0%5 ﬂmmmmmmmﬁmmm '
e TR TR -
a9 3G YR o SATHER! SHESE K& .% Fiawd T
b. ¥ T 9T HH IR YHEh! SHHEEN 3¥ R W@ B

%0 o o1 T W A eel SHTEh] SHEEH 6 43 R 1

A. _va,b'ﬂ'i:"f,‘cTTFﬁ B. a,‘b,c'ﬂ'&ﬂ'ﬁﬁ C. a,cH&, bTe™ D. a,c7ed, bad
Heiaftea! afeel Paperless S9% wiget s 3 2

A. X TR, 004 B, 90WEA,R08Y  C. JRTEA,R00% D, 9 T, 004

_ In question. below a sentence broken into five parts. Join ihese-parts to .make a meaningful

sentence. The correct order of parts'is the answer.

1. do 2. today 3. you 4. must St

A. 34152 B. 25413 C. 12543 D. 51324
Catching the earlier train will give us the ...... to do some shopping.

A. chance ~ B. luck ' C. possibility D. occasion
Isawa...... of cowsin the field. ;

s R R R  herd C  cwarm 5 D flock -
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Trafim s (D) =1 IR Tt T EES ST TR

1. Vitamin D %1 933 ¥4 Calciferol T Cholechaliciferol 21 |
2. Vitamin D a=eh1 @11 e JohIT T &M 5o TMfe-s |

3. Vitamin D %! %I S==1eeHT Osteomalacia B9 |

4.  Vitamin D %] SIS ST9HeEHT Rickets &9 |

TR 1 AR e S/ B 2

A 129W B. 2349H C. 34T ~ D. 2349H
ﬁﬁamﬁmwﬁmmmmm:
a. Tgfed 1. "W Eeafhes
b. fafafs. enfemm 2. HEHS A

c. fafew=mm 3. Wefes

d. msx : 4. e gfey
FIE a b c i Ad

A. 3 2 1 4 )

B. 2..3 1 -4

C. R, B

D. 2. -3 -4..1

fa. Rmmﬁﬁmmmwmmtmwmmﬁmm
freRER)

T S T HIFH TTH TAf
a. dard 1. 98 F9R3IY

b. ¥Ra 2. W AT _Y0

c. IfE 3. ITFARYe

d. wH 4. o AT 9R¥R

FE a bW d

AL 3 3 1 4

B. 3 WY2 4

C. @gb\'3 2 4

DENY 2 3 4

mrmmmmmwm _

1. A9 T e 3 99 9R5R H QI T HIEH U] 81 i

2. ¥ g Ufgel STl GUHE dlhes Jeigl 9 8|

3. mﬁ«oaﬁaﬂmazraﬁwéfﬁﬁméfamgé%ﬂaﬁaﬁmﬁml

4. 9% T G 005 M@ AA-YH ISH IS ST B 1. )

TRl FA WA e B/ 89 ?

A, 1,239 B. 2,49H ~C. 347w ARG -3y 2 TATER
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qerh! A T S FE-HH 0 H A I FenR qe Wl faenfieen! @en
SEEH B |- The following pie-charts show the distribution of students of graduate and post-
graduate levels in seven different institutes in a town.

IR T EehIT TeHl Fraael oo weement faensfiees wem :

Distribution of students at graduate and post-graduate levels in seven institutes:

Total Mumber aof Students of Total Number c‘ Stur inut nf
Graduate t el = 27300 G el =

Treror e R 1 A T AR AEHT ST Shiel ferene B 2

What is the total number of graduate and post-graduate level students is institute R?
A. 8320 B. 7916 . C. 9116 : D. 8099
TRTeOT WS A TR T I e I Torenefiaeah! STgua Hia 9 2

What is the ratio between the number of students studymg at post-graduate and graduate
levels respectively from institute S?

A, 14:19 , B.. 19:21 C." JfRLY. ~ Dk 19:14

TRreror W M TS w1 i ferenefie Wi wewn sreem e '

How many students of institutes of M and S are studying at graduate level?

A. 7516 B. 8463 \D 9127 D. 9404 -

EhIR qee e ween S mw@ﬁaﬁizmmme o v feremefiet s ®fa

s?

What is the ratio between the number of students studying at post-graduate level from

institutes S and the number of students studying at graduate level from institute Q?

A, 13:19 . B. 2113 ' C. 138 D. .19:13

IR el RTT0r EE N T P A1 e e sigum s ® 2 '

Total number of students studying at post-graduate level from institutes N and P is

A. 5601 : 5944 C. 6669 D. 8372

T wa@awﬁannﬂﬂq

1. Uftga THE SR S T e Turerh! SIS 9T ]Y T IR 9G-3¥R H] e
TR B

2. Uftga 9 SATYHR STTENTRT 78T T TSI o1l SHT! 88 e |

3. ftey AFE AR AT 9T S IR @ e B |

W‘cﬁiﬁm'ﬂ'@fﬁlﬁ
1,233 |I G . ' " B. 13294
C. 1339 ' D. 2T49EE
ammmmﬂmwﬁmaﬁ‘é/:ﬁ?
A IS = s B. wuftheore! fagr

C o S e N & ™ [, J—
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AqTeTR! ! WA ae FeTw! e R TR

1. AUl . YUITEHT 99 R Hiava ffwma yfi s

2. ot wilam Ros¥/sy FTER AUTD! Hel MEE SeqTH T %?r-ﬁ‘ﬁ mm@ﬁ,
Bl

3. A9 @mmmfaﬁ 0¥ T TR B |

4. e yfFgeR FREE fad. j0%9 ma%ﬁamﬂqaﬁén

i B YA E T o ?

A -1329H B. 2139@  C. 3349m D, 1347H

MG SFATUFI, 2085 FFHR AUCHT F7 SFEGS Wﬂammmmﬁs@m

TR FH SHEST IR T el 5 g faaeq w8l 8 ?

A. T, IS, Se9l, A, g B. mmmmm

C. TS, gES, oA, A, AN . D. IS, TS, TG, e, S

Pick out the most effectlve word from the given words to fill in the blank to make the

sentence meaningfully complete

Do you know ......7 . : :

A. where she comes from 3 B. where does she come from

C. where from she comes D.. . from where does she come

Pick out the most effective word from the ngen words to fill in the blank to' make the

_ sentence meaningfully complete.
‘God is ......

A.  graceful B. gracious : C. grateful D.  greatful

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete. ;

He is so ...... that he lmmediately believe my story of ghosts

A. innocent B. credulous - C. vociferous . D. credible
womwmmmmmﬁmav
Gkl Fraifteg a9
A R09¥ foreaimmaTe! srifteg a9
B 0% Fraifegm e 9y
C 0% - . International Year of the Pulse
D Ro%3 IR wee ad
mwmm:mmm@mmmml
a. fava @@ Emwa ‘ 1. %ﬂEﬁA
b. WIWMWWM 2. AR
c. g U THY favafgaem 3. FgAm
d. 4. W :

HIh T Tl 931aT0n FEHT





